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2% HA4X Efh [ RiB- AR EIEG]  mm ES
BEHYN 8 all #94.5kg 8 78 | 4,000
B2HN 102 alll #94.5kg 8 7 | 3,500
mNA 162 dbiEE 2kg ) kg | 2,600
MIA& 352 dtiEE 4kg 8 ke | 2,200
7 7/8kg dbiEE 1A i kg | 1,300 EiE
7 6kg dbiEE 1A i kg | 1,200 EiE
754 3E FE 10/13kg 5 kg 800 &1
1+57 5FE = okg 8 kg 650 EE
ES<Y 2/3kg = I 1A #a kg | 2,000 EBE J&EX
5 3/4kg =8 1A 5= kg | 4,200 R AEH
huA 4kg ALE 1A i kg | 1,400 £
huA 3kg ALE 1A i kg | 1,350 £
= 1.5kgUP 55 1A 5= kg | 2,900 EE J&EX
B4 202 R=E 2kg & ke | 1,300
B4 23 R=E 2kg & ke | 1,100
My oJ4—L 5/6.A dtiEE 5kg & kg | 2,200 | ARG EER. H7. BE. B
EEYINE BIE 500g 5 P | 2,200
ISR F# 100g P P 650
=PA%e=! 50gUP = & kg | 2,200
BE 60gUP dtiEE 1& kg | 1,900
H4HT 100/130g | & &l ke | 2,700
HHT 150/180g Ei& & kg | 2,700
ST 200/250g Ei& & kg | 2,800
HHT 300/400g FE & kg | 3,500
HHT 400/500g FE & kg | 3,600
HHT 500/600g FE & kg | 3,600
EHHT 30/40g A 1& kg | 3,200
EHHT 40/50g e & kg | 3,000




